# CONFIDENTIAL

## KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

### ORIGINA Form ACO-1 September 1999 Form Must Be Typed

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License #	API No. 15 - 185-23373-0000
Name: T-N-T Engineering, Inc.	County: Stafford
Address: 3711 Maplewood Ave, Suite 201	NW - SE - NE - Sec. 3 Twp. 22 S. R. 12 East  West
City/State/Zip: Wichita Falls, TX 76308	1895 feet from S (N)(circle one) Line of Section
Purchaser: Coffeyville	1025 feet from (E) / W (circle one) Line of Section
Operator Contact Person: Hal Gill	Footages Calculated from Nearest Outside Section Corner:
. 040 . 601 0457	(circle one) (NE) SE NW SW
Contractory Names, Landmark	Lease Name: Siefkes "A" Well #: 11
License: 33549	Field Name: Max
License: 33549  Wellsite Geologist: Jim Musgrove CONFIDENTIAL	Producing Formation: Arbuckle
	Elevation: Ground: 1841' Kelly Bushing: 1846'
Designate Type of Completion:	Total Depth: 3700' Plug Back Total Depth: 3650'
✓ New Well Re-Entry Workover	
✓ Oil SWD Temp. Abd.	Amount of Surface Pipe Set and Cemented atFeet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	Drilling Fluid Management Plan A/776174
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)  1-17-8
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug Back Plug Back Total Depth	Dewatering method usedRECEIVED
Commingled Docket No	Location of fluid disposal if hauled offs KANSAS CORPORATION COMMISSION
Dual Completion Docket No	2000
Other (SWD or Enhr.?) Docket No	
9/19/06 9/29/06 10/17/06	Lease Name: LicerGONISERVATION DIVISION
Spud Date or Date Reached TD Completion Date or Recompletion Date	QuarterSecTwpS. R. WICHITA SST West  County:Docket No.:
	h the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita,
Information of side two of this form will be held confidential for a period of	rer or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply.  12 months if requested in writing and submitted with the form (see rule 82-3-3 and geologist well report shall be attached with this form. ALL CEMENTING S. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulations are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature: Hal Juli	KCC Office Use ONLY
Fitte: Engineer Date: Nov 15, 2006	Letter of Confidentiality Received
15th N. 1	Esticator of confidentiality (Cocavea
Subscribed and sworn to before me this 19 day of / VDYEMDER	, Wireline Log Received
20.00	Geologist Report Received
Notary Public: Susan L. Van Huss Daté Commission Expires: May 26, 2010	UIC Distribution
Daté Commission Expires: May 24, 2010	
Jaco Commission Expires.	

Operator Name:	T-N-T Engi	ineering, Inc.	Lease i	Name:_	Siefkes "A"		Well #:11		
Sec. 3 Twp. 22		☐ East	County:		Stafford				
ISTRUCTIONS: Show sted, time tool open a emperature, fluid recov	v important tops a nd closed, flowing ery, and flow rates	nd base of formations per and shut-in pressures, values if gas to surface test, all inal geological well site re	whether shu ong with fir	ut-in pres	ssure reached s	tatic level, hydros	tatic pressur	es, bottom	hole
rill Stern Tests Taken (Attach Additional Sh	eets)	✓ Yes   ☐ No		<b>∑</b> Lo	og Formatio	n (Top), Depth ar	nd Datum	☐ Sa	mple
amples Sent to Geolo		☐ Yes 🗸 No		Name Howa	_		Тор 2726'		tum , 1846'
ores Taken	Yes V No		Topel			2818'		, 1846'	
lectric Log Run (Submit Copy)		✓ Yes No		'Heébi	ner		3108'		, 1846'
st All E. Logs Run:				Lansii	ng 🏃 🕆		3260'		, 1846'
ist All E. Logs Hall.				Viola			3496' 3594'		, 1846' , 1846'
CDL/CNL, DI				Arbud	Silve				
		CASING Report all strings set-c	RECORD	✓ Ne		on, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig	ht	Setting Depth	Type of Cement	# Sacks Used		d Percent itives
Surface Pipe	12 1/4"	8 5/8"	28#		652'	60/40 POZ A-con	150 sx	3% cc+1	/4# cf
Production String	7 7/8"	5 1/2"	15.5#	3699' AA-2		AA-2 Comm	180 sx	10% salt,5%	cal-set, .3%FR
								.25% de,.8%	fla-322,.25# c
<i>6</i> :		ADDITIONAL	CEMENTIN	IG / SQL	JEEZE RECORD				
Purpose: * * * * ,	Depth Top Bottom	Type of Cement	#Sacks	Used		Type and Po	ercent Additive	es	
Protect Casing Plug Back TD									
Plug Off Zone	3 -								
Shots Per Foot	PERFORATI Specify	ION RECORD - Bridge Plug Footage of Each Interval Per	gs Set/Type forated		Acid, Frac	cture, Shot, Cement	Squeeze Recterial Used)	ord	Depth
4	3594' - 95'				A/250 7.5% M	CA			
2	3595' - 98'				None	ı			
TUBING RECORD 2.8	Size 375"	Set At 3646'	Packer A	ıt	Liner Run [	, Yes  V No			
Date of First, Resumerd I 10-18-06	Production, SWD or I	Enhr. Producing Met	thod [	] Flowin	g 📝 Pumpi	ng Gas Lif	t 🔲 🔾	ther (Explain)	i,
Estimated Production Per 24 Hours	Oil 6	Bbls. Gas	Mcf	Wate 222	•	bls. G	ias-Oil Ratio		Gravity 7
Disposition of Gas		COMPLETION	1_		Production Inter	val	<u></u>		~
Vented Sold	✓ Used on Lease	Open Hole	✓ Perf.	. 🔲 '	Dually Comp.	Commingled			
(If vented, Sub		Other (Spec					<u> </u>	<u>:</u>	- 2



#### SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

## SALE JERVICE OFFICE:

10244 v.c Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

### Invoice

Bill to:		200609	Invoice	Inv	oice Date	Order	Station	
	T-N-T Engineering Inc		609159	9	9/20/06	13962	Pratt	
	3711 Maplewood Suite 201				Service De	escription		
	Wichita Falls, TX 76308	[			Cem	ent		
	Widmartans, 171 70500		<u>. · · · · · · · · · · · · · · · · · · ·</u>	Bease		Well	Well 1	
				Siefkes	<b>A</b> '	.11	New V	
				AFE		PO	Terr	
							Net :	30
	CustomerRep				Trea			
	Rick Popp				D Sc	ott		
<u>ID.</u>	Description			<u>UOM</u>	Quantity	Unit Price	<u>Price</u>	e
D201	A-CON BLEND (COMMON)			SK	150	\$16.50	\$2,475.00	(T)
D203	60/40 POZ (COMMON)			SK	150	\$10.30	\$1,545.00	(T)
C194	CELLFLAKE	•		LB	75	\$3.70	\$277.50	(T)
C310	CALCIUM CHLORIDE			LBS	810	\$1.00	\$810.00	(T)
F163	WOODEN CEMENT PLUG, 8	5/8"		EA	1	\$88.90	\$88.90	(T)
E100	HEAVY VEHICLE MILEAGE	- 1 WAY		MI	90	\$5.00	\$450.00	
E101	CAR, PICKUP OR VAN MILE	AGE - 1 WAY		MI	45	\$3.00	\$135.00	
E104	PROPPANT / BULK DELIV SI	ERVICES/TON MILE,	\$200 MIN	TM	608	\$1.60	\$972.80	
E107	CEMENT SERVICE CHARGE			SK	300	\$1.50	\$450.00	
R202	CASING CEMENT PUMPER,	501-1,000' 1ST 4 HRS	ON LOC.	EA	1	\$924.00	\$924.00	
R701	CEMENT HEAD RENTAL			EA	1	\$250.00	\$250.00	
S100	FUEL SURCHARGE				1	\$87.96	\$87.96	

**Sub Total:** \$8,466.16

**Discount:** \$1,341.18

Discount Sub Total:

\$7,124.98

Stafford County & State Tax Rate: 6.30%

Taxes:

\$275.51

(T) Taxable Item

Total:

\$7,400.49

Voucher_	1376	9 Inv L	091	159	
Vendor	2091	Date Disc	9	20	
Due G. L. <u>≤</u> 2	9/30 10_Sub_	Month .	Lse_	2882	7

RECEIVED KANSAS CORPORATION COMMISSION

JAN 17 2008

CONSERVATION DIVISION WICHITA, KS

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182



SALES OFFICE:

100 S. Main Suite #607 Wichita, Ks. 67202 316-262-3699 316-262-5799 FAX SALES & S CE OFFICE:

10244 NE. Hwy 61 P.O. Box 8613 Pratt, Ks. 67124-8613 620-672-1201 620-672-5383 FAX **SALES & SERVICE OFFICE:** 

1700 S. Country Estates Rd. P.O. Box 129 Liberal, Ks. 67905-0129 620-624-2277 620-624-2280 FAX

### Invoice

1	o: 20	00609	Invoice	inv	oice Date	Order	Station	
	T-N-T Engineering Inc		609250	9	9/29/06	15210	Pratt	
	3711 Maplewood Suite 201				Service D	escription		
	Wichita Falls, TX 76308				Cen	nent		
				Lease		Wel		
				Siefkes	A	11	New V	
			·	AFE	<u> </u>	PO	Tern Net :	
	CustomerRep				Tre	ater	Net.	3 <b>U</b>
<u>.</u>	Randy Wagel				Bobby		· <u> </u>	
ID.	Description			TIOM	Quantity	Unit Price	Ртіс	
D205	AA2 (COMMON)			SK		\$15.90	\$2,862.00	
D203	60/40 POZ (COMMON)			SK	25	\$10.30	\$257.50	• •
C195	FLA-322	•		LB	136	\$7.50	\$1,020.00	
C244	CEMENT FRICTION REDUCER			LB	. 51	\$6.00	\$306.00	` '
C321	GILSONITE	٠	•	LB	901	\$0.67	\$603.67	` ′
C243		· ·	CEIVED		43	\$3.45	\$148.35	` ′
C221	SALT (Fine)	RE	CEIVED DRATION COMMISS	GAL	849	\$0.25	\$212.25	
C194	CELLFLAKE	S CONT	3 2008	LB	46	\$3.70	\$170.20	` '
C141		JAN	1 7 2008		8	\$44.00	\$352.00	٠,
C302	MUD FLUSH	-ONS	TION DIVISION	GAL	500	\$0.86	\$430.00	` '
F101	TURBOLIZER, 5 1/2"	COMO	WICHITA, KS	EA	10	\$74.20	\$742.00	
F171	LATCH DOWN PLUG & BAFFLE, 5 1/2"	•	* *	EA	1	\$250.00	\$250.00	` ′
F211	AUTO FILL FLOAT SHOE, 5 1/2"	• .		EA	1	\$320.00	\$320.00	• •
E100	HEAVY VEHICLE MILEAGE - 1 WAY		6	MI	90	\$5.00	\$450.00	(-)
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY			MI	45	\$3.00	\$135.00	
E104	PROPPANT / BULK DELIV SERVICES/TON I	MILE,	\$200 MIN	TM	432	\$1.60	\$691.20	
E107	CEMENT SERVICE CHARGE		•	SK	205	\$1.50	\$307.50	
R208	CASING CEMENT PUMPER, 3501-4000' 1ST	4 HRS	ON LOC	EA	1	\$1,680.00	\$1,680.00	
R701	CEMENT HEAD RENTAL		•	EA	1	\$250.00	\$250.00	
R702	CASING SWIVEL RENTAL			EA	1	\$150.00	\$150.00	
S100	FUEL SURCHARGE				1	\$119.05	\$119.05	
							4	
	Vousbar 13954 Inv 60925	フ) .			ı	Sub Total:	\$11,456.72	
	Voucilei GIAS	_				Discount:	\$1,814.03	
	10010 10			_		Sub Total:	\$9,642.69	
,	200 /0/31 Month	_	offord County &				\$406.91	7
	Due 70/37 Month Lse Q 885	<u>U</u>	:	(T)	) Taxable Item	Total:	\$10,049.60	j



## TREATMENT REPORT

Customer	<u> </u>	200-	$\frac{1}{1-2}$	Looso No		_				Date	<del></del>		
Lease //	ING	VGLN	EERD	u L	<u>W</u>	<del>-</del> .					10-1	8-06	
Field Ofder #	Station	000	- 1/c	Well # Z	<u> </u>	Casing	/ D	epth	, ,	County	DARE	50A	State
Type Job	9 1/36		N/S	11.		5/	Forma	210	-2	2/2/2	Legal C	Description	-22-12
	DNGS	1 KS	V6, -	NU	, T					7/0			
PIPE DATA PERFORATING DATA						FLUID (	JSED					RESUME	***************************************
Casing Ste	Tubing Size	e Shots/	Ft		Acid				R	ATE PR	ESS	ISIP	
3707 From To			Pre			Max				5 Min.			
Volume	Volume	From	То		Pad			Min				10 Min.	
Max Press	Max Press	From	То	· · · · · · · · · · · · · · · · · · ·	Frac	-		Avg				15 Min.	
Well Connection	n Annulus Vo	ol. From	То				·	HHP				Annulus f	
Plug Depth 3	Packer De	pth From	To	( °	Flus	sh 		Gas V	/olume			Total Load	d
Customer Rep	resentative	Poti	Y) 	Station	n Mana	ager S	ON 4			Treater	200 R	DIEY	
Service Units	120	276	303	57									
Driver Names	KG	how	Me	CR	AZZ	/							
Time	Casing Pressure	Tubing Pressure	Bbls. Pu	ımped		Rate				Ser	vice Log		
1500							ON	100	SA	750	<u>~</u>		
				DEC.	EIVE	2008	RU	N 37	07	5/2	OSG.	. 8	15-Jts.
				SAS CORPC	RATIO		FLOR	5 SHO	E,	LATER	L BAT	FUB 1	5 COURT
			W.	INN	117	SUOR	CEN	V /-	Z-3	3-4-5	5-6-	7-8-	3-10
				1		~! I)!√.	TAG	BOTTON	<u> </u>	DROP	BA	u-6	DPC.
				COL	ERVATI WICH	//Dr	K	OVAT	E	CAS	BNC	<del>}</del>	
							4	2		<del></del>		<del>, , ,</del>	
[700)	200		20			5	Ky	nost	Z	0 66	12%	Ka	Hzu
	700		12	-	C	5	Mas	m	12	- 661	mo	M) Fel	BH
	700		3			5	KIN	ml	3	661	Hz	0	
	700		4	3	(	\$	MI		80		AZ	3%CF1	2,25%
						<del> </del>	DEF	ONME	2.	.8% F	4A 32	2,10%	SMI,
							.75%	CASI.		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			GIZSONITE
					-		SVD	P-11	1/18	HLI	WE-	7	Ruly
	6		0	)		7	51	PAR	1	DISV.	) w/	2% K	CC Hze
	200	•	5	2		7,	سر کے	476	2	MEN	W		
	78		8	2	4	<u>/</u>	25	Lou	1	CATE			
1250	1 <i>9</i> 20		8	/		1	1	MG	$\mathcal{L}$	bur	ノー/	HELD)	
							0	, ,					1.0
		-	<u> </u>			·	KLA	a pt	t of	MH	<u>-25</u>	SH. (2)	140 Poz
- (24.1)		A	<del>                                     </del>				, ,	) 11-	- 12		<del></del>		1/21=1
100	NIE III	ov 61-	DO Box	, 0612	. Dw	H KC	10/					VKS - 1	72-5383

THE &	JOE-	5-200	15-E	t5 In	140			
JE	> <b>†</b> ©	5 <i>1</i> =	7 / <del>*</del>			EED	ORDER 1	∆195 ✓
ENER		ERVIC	ins.	Subject t	o Correction	Well #	11.000	
Date 10-18		Customer ID		County	1714 2000 0 A	State /	Station On	22-12
10-18	-06	1 Tr. 1 mm	THE THE	, Depth	Formation	153	Shoe Joint	714,125
H /-/V-/	BIVG.	HUEGE	THE INC	Casing	Casing Depth	TD 3710	Job Type C	Paris-n
R			<del></del>	Customer Represe		Treater	Coron	
E					7.011		CO 120 C	
AFE Number		PO Number		Materials Received by	Kuky	Pana		
Station Code	Product Code	QUANTITY	1 1	MATERIALS, EQUIP	MENT, and SERVICES L	JSED / /	UNIT PRICE	AMOUNT
Po	1205	180sc	14112	- CEMB	W			
1	<u> </u>	25 SK	60/4	60 POZ				
					· · · · · · · · · · · · · · · · · · ·			
12	195	136 ls.	FLA-	322_			-	
-lo	244	5/15.	CFR	<u>-</u>			~	
1	@321	901/6	GIIS	ONDIE		•		
$-P_{0}$	<u> </u>	43/6	DEFOR	mer_				
-t	200	8491b	SACT	<del></del>		*		
-	2/94	46/12	ceu.	FIAKE		· · · · · · · · · · · · · · · · · · ·	<u> </u>	ļ
	2312	128/16	GHS 1	SOR_		<u></u>		
	21./1		00					
-6	941	8901.	<u> </u>	1		***************************************		
-5	1306	500ge/	min	Prust				
P 1	F101	10EA.	5/2/	(LKS)(I	288			
-4	<u> </u>	/BA	5n/	ATCH L	own few	6		
	F211	1 BA	5/1	LOAT S	HOB	· •		
$\rightarrow$	Elon)	80.7	TP	· W WAT	75112			
$-\frac{1}{p}$	Elou Elol	80mile	1 Penc	W JIL	BHOL			
<del></del>	ENU	3847m	Pill	V 1/00 1	2000			!
<del>1</del> p+	SIN	205SK	125111	SUTI SISV	TIE Who	RCE		
12	DIAR	184.	(A APPIE	Postra	INSTA	MI	STOEIVI	ED
12	R70 1	100	MANN	RUN HA	741)		RECEIVI KANSAS CORPORATIO	4 COMMISSION
7	P707	130.	ASES	WE SIL	INBL	,	JAN 17	2008
			- Company				CONSERVATIO	N DIVISION
							CONSERVATION	A, KS
				- 4				
10244 NE	Hiway 61	P.O. Box 861	3 • Pratt, KS 6	7124-8613 • (620	0) 672-1201 • Fax (	<u>(620)</u> 672-5383		958, 26 r Printing, Inc. 620-672-3656